51 HADEX

125128

TAVTaRAVNEE=mc* LE o7,

AT TOHI (RIITH0)

TAYTaRA

Z%Of:o

53 BADEZH DM

a+(-b)=a—>
a+(=b)=a—-10

(1E) difference
(FR) dif ference

55 BATITOHAK

y=az?+br+c

y=az?+br+c

5.6 #-ERn

BATILT

k=1

Zak=a1+a2+a3+“'+an




X

D ke QK

AXH (displaystyle)

n
D a
k=1

Boies
1
/ xdx
0
fol xdx
57 9
1tz
T 1l—=x
5.8 FRHXTTOMAE
f(z,y)dzdy
1
f(z,y)dz dy
Va+Vh
!




5.9 XoBMR

E =mc

3=y (2) ITk...

5.10 3EI%E

(@), (%),

5.24 array IRIR

abc abc abe

Y z
ai; a2 Ain
a1 a9 A2

A p—
Am1 Am?2 Amn
ail 0 0
0 | az QA2n,
A pu—

0 am?2 Amn

5.25 DTG

i%l/zl




